
Securing cargo. We invented the concept.

80
31

94
 B

S Series
Movable Clamping Attachment

Art.nr 803194



DESCRIPTIONBESKRIVNINGPART
NO.QTYPOS.

Upper ClampÖverbygel 190 115 14780076511
Mounting PlateMonteringsplatta80316212
Lower ClampUnderbygel friktionsfäste justerbar80098113
Friction Plastic KitFriktionslist Sats80087714
Lock PlateLåsbleck80316325
Rubber PuckGummipuck Ø4080313826
WasherBRICKA M20 FZB21190247
Locking NutLåsmutter M20 FZB21186128
NutMutter M20 FZB 8.821183629
ScrewSKRUV M20x110 FZB211177210

Securing cargo. We invented the concept.

80
31

94
 B

ExTe Fabriks AB, SE-820 41 Färila Sweden. Tel: +46 (0)651 175 00. Fax: +46 (0)651 175 03. E-mail: info@exte.se www.exte.se

Movable Clamping Attachment 

Page 2 

64

275

8

7

3

9

2

5

6

1

10

723
8

Vikt/ Weight: 11,4kg

380Nm

6

4


